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  [mV]THRU
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 / ndf 2χ   1658 / 19
Prob       0
p0        0.04776±  2.96 
p1        0.0002858± -0.07709 

 / ndf 2χ   1658 / 19
Prob       0
p0        0.04776±  2.96 
p1        0.0002858± -0.07709 

RUN=10, CH=4RUN=10, CH=4

 / ndf 2χ   1658 / 19
Prob       0
p0        0.04776±  2.96 
p1        0.0002858± -0.07709 

/MPTHRU
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 / ndf 2χ   1999 / 25
Prob       0
p0        0.07099± 3.951 
p1        0.0003685± -0.1025 

 / ndf 2χ   1999 / 25
Prob       0
p0        0.07099± 3.951 
p1        0.0003685± -0.1025 

RUN=11, CH=4RUN=11, CH=4

 / ndf 2χ   1999 / 25
Prob       0
p0        0.07099± 3.951 
p1        0.0003685± -0.1025 

/MPTHRU
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 / ndf 2χ   1885 / 25
Prob       0
p0        0.07064± 3.782 
p1        0.0003889± -0.103 

 / ndf 2χ   1885 / 25
Prob       0
p0        0.07064± 3.782 
p1        0.0003889± -0.103 

RUN=12, CH=4RUN=12, CH=4

 / ndf 2χ   1885 / 25
Prob       0
p0        0.07064± 3.782 
p1        0.0003889± -0.103 

/MPTHRU
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 / ndf 2χ   2722 / 42
Prob       0
p0        0.04205± 3.184 
p1        0.0004008± 0.1381 

 / ndf 2χ   2722 / 42
Prob       0
p0        0.04205± 3.184 
p1        0.0004008± 0.1381 

RUN=13, CH=4RUN=13, CH=4

 / ndf 2χ   2722 / 42
Prob       0
p0        0.04205± 3.184 
p1        0.0004008± 0.1381 

/MPTHRU
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
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 / ndf 2χ   1245 / 34
Prob       0
p0        0.07927± 4.015 
p1        0.0005542± 0.1415 

 / ndf 2χ   1245 / 34
Prob       0
p0        0.07927± 4.015 
p1        0.0005542± 0.1415 

RUN=14, CH=4RUN=14, CH=4

 / ndf 2χ   1245 / 34
Prob       0
p0        0.07927± 4.015 
p1        0.0005542± 0.1415 

/MPTHRU
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 / ndf 2χ  918.8 / 22
Prob       0
p0        0.07807± 3.674 
p1        0.000421± -0.09816 

 / ndf 2χ  918.8 / 22
Prob       0
p0        0.07807± 3.674 
p1        0.000421± -0.09816 

RUN=15, CH=4RUN=15, CH=4

 / ndf 2χ  918.8 / 22
Prob       0
p0        0.07807± 3.674 
p1        0.000421± -0.09816 
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 / ndf 2χ   1483 / 20
Prob       0
p0        0.2104±  6.03 
p1        0.0004818± -0.09121 

 / ndf 2χ   1483 / 20
Prob       0
p0        0.2104±  6.03 
p1        0.0004818± -0.09121 

RUN=16, CH=4RUN=16, CH=4

 / ndf 2χ   1483 / 20
Prob       0
p0        0.2104±  6.03 
p1        0.0004818± -0.09121 
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 / ndf 2χ  159.1 / 40
Prob       0
p0        0.02396± 2.011 
p1        0.0005319± 0.1658 

 / ndf 2χ  159.1 / 40
Prob       0
p0        0.02396± 2.011 
p1        0.0005319± 0.1658 

RUN=17, CH=4RUN=17, CH=4

 / ndf 2χ  159.1 / 40
Prob       0
p0        0.02396± 2.011 
p1        0.0005319± 0.1658 

/MPTHRU
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 / ndf 2χ  130.5 / 20
Prob       0
p0        0.0699± 3.102 
p1        0.000514± 0.1134 

 / ndf 2χ  130.5 / 20
Prob       0
p0        0.0699± 3.102 
p1        0.000514± 0.1134 

RUN=18, CH=4RUN=18, CH=4

 / ndf 2χ  130.5 / 20
Prob       0
p0        0.0699± 3.102 
p1        0.000514± 0.1134 
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 / ndf 2χ  210.1 / 39
Prob       0
p0        0.0466± 2.771 
p1        0.0007611± 0.2144 

 / ndf 2χ  210.1 / 39
Prob       0
p0        0.0466± 2.771 
p1        0.0007611± 0.2144 

RUN=19, CH=4RUN=19, CH=4

 / ndf 2χ  210.1 / 39
Prob       0
p0        0.0466± 2.771 
p1        0.0007611± 0.2144 


